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F. Acceleration due to Gravity

On Earth, a free-falling object has a constant acceleration.

It's given a special symbol: ? (0( 9 ) w always n(ga‘hVC
( aching down)

Example 5: The Demon Drop elevator ride at Cedar Point, Ohio, is free-falling for 1.5 seconds.

a) What is the velocity at this fime?2 no imhal VC’OCl"fy
- —
7{:3"’9'8”'/31' -sz V,+3{'
t: LSs

= 0 + (-98)(1.5)

V=0
V- 7 negubue ¢ et
| S is moving down.
b) How far does it fall2

3.7 T-Vt+3d (o T L@t |
= 0(15) + 3 (-98)(15)"

-

Example é: A man falls 1.0 m to the floor. ﬂCgﬂ.‘hV&; f' nal
- posihion is below

a) How long does the fall take? o« ol ..
Te 0 (fell ?;\'/’o{ +1gt the initial pesihon.

@ =G93 10 = (0T + L (990t
d-

zlom & 1.0 = -494F |[0.204] 4?'

t=7 49 —49 0.45175 = ¢
b) How fast is he going when he hits the floor?
-_—
Not zero

t=0.4Ss
o +=0452s

We want V¢ +he instant he hir

_'l:hc 7 floor . ‘\',fz . V.t + z&'z
Vf' L — = 0+ 2(’9-8)(',.0) Vs = _44_7':/;
Pracﬁce:w = '9.b
— we must include

Vi = 4.4272 the negative (down)
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